
w'sf]{6 ufpFkflnsf

ufpF sfo{kflnsfsf] sfof{no

aaf]{6, u'NdL

cfly{s k|zf;g zfvf



cfDbfgL

qm=;+= ah]6 zLif{s cg'dflgt ah]6 cfDbfgL s}lkmot

s_ ;+3Lo ;/sf/

1 ;dflgs/0f cg'bfg 9,97,00,000 9,97,00,000

2 ;;t{ cg'bfg 32,26,33,000 32,26,33,000

3 ljz]if cg'bfg 1,25,00,000 1,25,00,000

4 ;dk'/s cg'bfg 54,00,000 54,00,000

5 /fh:j afF8kmfF8 6,92,12,000 6,76,34,486



v_ k|b]z ;/sf/

1 ;dflgs/0f cg'bfg 46,34,000 46,34,000

2 ;;t{ cg'bfg 1,10,44,000 1,10,44,000

3 ljz]if cg'bfg 60,00,000 60,00,000

4 ;dk'/s cg'bfg 1,50,00,000 1,50,00,000

5 /fh:j afF8kmfF8 64,00,000 57,28,764



u_ cfGtl/s >f]t

1 cfGtl/s /fh:j -9'Ëf

uLl§ ;d]t_

49,00,000 50,16,949

2 ut jif{sf] gub df}Hbft 3,00,00,000 2,25,00,000

3_ cGo cfDbfgL

1 k|zf;sLo ejg lgdf{0f 

k"jf{wf/

70,00,000 70,00,000

59,44,23,000 58,47,91,199



vr{

qm=;+= zLif{s lgsf;f ah]6 vr{ /sd

1 ufpFkflnsf tyf j8f sfof{nosf] 

;~rfng vr{

7,71,12,000 6,33,50,679

2 ufpFkflnsf cGt{ut rfn' vr{ 4,06,71,000 3,18,42,694

3 ufpFkflnsf cGt{ut k"Flhut vr{6,20,36,788 5,95,86,788

4 ;+3Lo ;;t{ cg'bfg rfn" 26,53,81,000 22,66,56,245

5 ;+3Lo ;;t{ cg'bfg kF"lhut 4,99,50,000 4,39,01,453

6 k|b]z ;;t{ cg'bfg 1,10,44,000 1,00,61,370
7 k|b]z ljz]if cg'bfg rfn" 60,00,000 59,28,323



8 k|b]z ljz]if cg'bfg k"Flhut 40,00,000 28,50,870

9 ;+l3o ljz]if cg'bfg k"Flhut 1,25,00,000 1,13,16,307

10 ;+l3o ;dk'/s cg'bfg k'FhLut 54,00,000 38,98,494

11 k|b]z ;dk'/s cg'bfg k'FhLut 1,50,00,000 1,01,07,384

12 k|zf;sLo ejg lgdf{0f k"jf{wf/ 70,00,000 66,54,957

s'n hDdf 55,60,94,788 47,02,27,240



qm=;+

=

zLif{s vr{ k|ltzt s}lkmot

1 rfn" 86=49%

2 k'FhLut 81=56%

3 s'n hDdf 84=02%



cfo Joo

cfDbfgL 55,60,94,788 hDdf vr{ 47,02,27,240

a}+s cNof 1,85,00,000

hDdf 55,60,94,788 hDdf 55,60,94,788



ljefHo sf]if

hDdf ;+sng ePsf] /fhZj

/sd

^) % /sd ufpFkflnsfdf

hDdf ePsf]

$) % /sd

k|b]zdf k7fO{Psf]]

16,92,180 10,15,308 6,76,872
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